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Now, these problems are classified
as probability of causes, and are the most interesting
of all from their scientific applications. I play at
écarté with a gentleman whom I know to be per-
fectly honest. What is the chance that he turns
up the king? Itis §. This is a problem of the
probability of effects. I play with a gentleman
whom I do not know. He has dealt ten times,
and he has turned the king up six times. What
1s the chance that he is a sharper? This is a

EOBiem in the BLQb?.biIi_t h{)Téé.u____ﬂ. It may b¢1 |
-said that it is the essentg_l__problen-? of the experi- |

mental method. i) 5
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